
This document consists of 7 printed pages, 1 blank page and 1 Insert.

DC (AC) 48197/4
© UCLES 2012 [Turn over

UNIVERSITY OF CAMBRIDGE INTERNATIONAL EXAMINATIONS
General Certificate of Education Ordinary Level

*
3
5
7
1
0
5
4
7
2
1
*

ENGLISH LANGUAGE 1123/22

Paper 2 Reading October/November 2012

Candidates answer on the Question Paper. 1 hour 45 minutes

Additional Materials: Insert

READ THESE INSTRUCTIONS FIRST

Write your Centre number, candidate number and name on all the work you hand in.
Write in dark blue or black pen.
Do not use staples, paper clips, highlighters, glue or correction fluid.
DO NOT WRITE IN ANY BARCODES.

Answer all questions in both Section 1 and Section 2.
The insert contains the two reading passages.
Mistakes in spelling, punctuation and grammar may be penalised in any part of the Paper.
Dictionaries are not permitted in this examination.

The number of marks is given in brackets [ ] at the beginning or end of each question or part question.

For Examiner’s Use



2

1123/22/O/N/12© UCLES 2012

For
Examiner’s

Use

 Section 1: Reading for Ideas

Read Passage 1 in the insert and answer all the questions below in the order set.

1 (a) Notes [15 Marks]

  Identify and write down the information from the passage which describes the 
advantages and disadvantages of air travel.

  USE ONLY THE MATERIAL FROM PARAGRAPH 2 TO PARAGRAPH 5 INCLUSIVE.
  At this stage, you need NOT use your own words. To help you get started, the first point 

in each section of notes is done for you. You will be awarded up to 15 marks for content 
points.

MAIN POINTS

Advantages of air travel

• It gives people new experiences of cultures / climates / cuisine

 Disadvantages of air travel

• Noise of take-off and landing disturbs local residents
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 (b) Summary [5 marks]

  Now use your notes to write a summary of the advantages and disadvantages of air 
travel, as described in the passage.

  This time, you will be awarded up to 5 marks for using your own words wherever 
possible and for accurate use of language.

  Your summary, which must be in continuous writing (not note form), must be no longer 
than 160 words, including the 10 words given below. Begin your summary as follows: 

Nowadays, the availability of air travel brings many advantages because .......................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 ..........................................................................................................................................

 No. of words  
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2 From paragraph 5, select and write down two opinions.

One opinion is  .........................................................................................................................

 ............................................................................................................................................  [1]

Another opinion is  ...................................................................................................................

 ............................................................................................................................................  [1]    

3 From your reading of paragraph 6, decide whether each of the following statements is true or 
false and tick the appropriate box.

T F

It is cheaper to book on-line yourself than to go to a travel agent.

It is compulsory to buy a meal on a budget airline flight.

Airport staff are needed to help with cabin baggage.

 [3]
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 Section 2: Reading for Meaning

Read Passage 2 in the insert and answer all the questions below in the order set.

From paragraph 1

4 (a) What was lacking in the house that afternoon because it was ‘raining hard’?

 .....................................................................................................................................  [1]

 (b) Why was it ‘pretentious’ to call the room where Christopher did his homework ‘the 
library’?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]

 (c) Give two pieces of evidence which show how important Christopher’s education was to 
Mei Li.

(i) .....................................................................................................................................

    .....................................................................................................................................

(ii)  .....................................................................................................................................

    ................................................................................................................................  [2]

From paragraph 2

5 (a) Explain in your own words why it was surprising that Christopher’s father came into 
the library that afternoon.

 ..........................................................................................................................................

 ..........................................................................................................................................

 .....................................................................................................................................  [2]

 (b) Apart from the fact that Christopher’s father came into the library, what other aspect of 
his behaviour seems surprising?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]

 (c) Explain fully why Mei Li reprimanded Christopher.

 ..........................................................................................................................................

 ..........................................................................................................................................

 .....................................................................................................................................  [2]
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From paragraph 3

6 (a) Christopher was ‘fearful’ when he was left alone in the library. Pick out and write down 
the single word used later in the paragraph which continues this idea of ‘fearful’.

 .....................................................................................................................................  [1]

 (b) Why do you think Christopher returned ‘to the table every few seconds’?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]

 (c) In what way was Christopher’s deception ‘feeble’?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]

 (d) Each of Christopher’s parents was angry. In what ways did their anger differ? Answer in 
your own words.

. .........................................................................................................................................

 ..........................................................................................................................................

 .....................................................................................................................................  [2]

From paragraph 4

7 Give two reasons why Christopher was not upset by his parents’ disagreements.

(i)  ............................................................................................................................................

(ii)  .......................................................................................................................................  [2]

From paragraph 5

8 (a) What effect is achieved by the word ‘theatrical’ to describe Akira’s laughter that would 
not be achieved by the word ‘hearty’?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]

 (b) Akira compares slatted sun-blinds to families. According to his comparison, what 
happens if children do not play their part in family life?

 ..........................................................................................................................................

 .....................................................................................................................................  [1]
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 (c) Explain fully how ‘what Akira had said’ contradicted Christopher’s memory of his parents’ 
argument.

 ..........................................................................................................................................

 ..........................................................................................................................................

 .....................................................................................................................................  [2]

From the whole passage

9 Choose five of the following words. For each of them give one word or short phrase (of not 
more than seven words) which has the same meaning that the word or phrase has in the 
passage. 

 1. paramount (line 7) 5. sanctuary (line 28)
 2. frustratingly (line 17) 6. heralded (line 30)
 3. inevitable (line 18) 7. earnestness (line 38)
 4. muffled (line 21) 8. broached (line 47)

Five words chosen 
(from list above)

Answer

( ) ...................................... .............................................................................................. [1]

( ) ...................................... .............................................................................................. [1]

( ) ...................................... .............................................................................................. [1]

( ) ...................................... .............................................................................................. [1]

( ) ...................................... .............................................................................................. [1]

  
 [5]
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Passage 1

Air Travel

The ancient Greeks had myths about it, Leonardo Da Vinci sketched how it might be possible, 
but not even our most recent ancestors could have imagined the prevalence and downright 
ordinariness of air travel in our own time.

Air travel has many advantages. It gives people the chance to experience at first hand new 
cultures, climates and cuisine. These experiences surely contribute to a greater spirit of 
tolerance among the peoples of the world. Because air travel is cheaper than ever before, 
it is within the budget of ordinary people and not limited to the very wealthy. Family holidays 
overseas become easier, and bring family members together to enjoy each other’s company 
and cement relationships. Moreover, in the past, if sons or daughters emigrated from, say, 
England to Australia, their parents might never see them again; but air travel has shrunk 
distances and that longed-for contact with loved ones living abroad becomes possible. 
 
The growth in air travel brings jobs with it:  airports spring up, and employment is created 
there for baggage handlers , restaurant workers and cleaners . This sometimes means that 
local communities in economically depressed areas near these new airports have a chance 
to develop. Small businesses benefit from air travel because they can send staff to other 
parts of the country to work; thus a small firm of, say, architects can take on building work 
1000 kilometres from their home base. It is an amazing phenomenon of modern society that 
people sometimes commute by plane from one city to another, or indeed from one country 
to another –  from Malaysia to Singapore , for example – to work, returning home for the 
weekend, a concept which would have been alien to their parents’ generation. In addition, air 
travel reduces congestion on other forms of transport, such as rail and road; trains are less 
crowded and road traffic flows more freely. Of course the sheer speed of air travel makes 
the speed of these other forms of transport seem like snail’s pace.

However, air travel also has its critics. People who live near airports are plagued by the noise 
made by aircraft taking off and landing.  New runways are built on lush countryside, where 
the residents object to the destr uction of the picturesque rural views from their homes. New 
airport terminals are built, further encroaching onto the countryside. Air travel has become an 
environmental issue, as critics argue that it damages the ozone layer, permanently scarring 
our planet with what is descr ibed as our ‘carbon footprint’. The increased availability and low 
price of plane tickets encourage many people to purchase holiday homes abroad, thus further 
contributing to this carbon footprint. Air travel facilitates smuggling, particularly of drugs, and 
there have been many high profile cases of people ruthlessly engaging in this life-destroying 
activity. Although statistics tell us that we are more likely to be killed driving on our busy 
roads, when a plane goes down there are rarely, if ever, any survivors.

Although a flight may be shor t, it may take an hour or more to drive to the nearest air port, 
thus increasing travel time. In addition, secur ity checks are time-consuming, as hundreds of 
passengers, particularly in busy holiday seasons, snake their way in a seemingly interminable 
queue to be searched by overworked and sometimes impatient staff. Such security checks are 
stressful and an invasion of privacy, as belts, jewellery and even shoes have to be removed 
and x-rayed. You don’t need to have your personal belongings, and sometimes your person, 
inspected before boarding a train! Occasionally, flights are delayed by several hours; when 
this happens, what could be worse than the feeling of being virtually imprisoned in the airport, 
with nothing to do, nowhere to go, and perhaps with young children demanding attention?

A further development in air travel today is the appearance of budget airlines. E-tickets are 
issued, which saves on administrative costs. Passengers book their flights on-line, using the 
Internet, and so do not need to use a travel agent, who would charge them a fee. No meals or 
refreshments are offered on budget airlines; rather, the airlines augment their narrow profits
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by selling food and dr ink on board to a captive audience. Passengers are encouraged not 
to put luggage in the hold of the plane, but to carry only cabin baggage, which reduces the 
number of airport staff required.

Passage 2

Christopher’s father earns his living through illegal imports, and his mother disapproves.

It was raining hard that afternoon, making it gloomy throughout the house . 
       

Content removed due to copyright restrictions. 

But in the end I never broached the subject.  
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